1“ DRILL CHART Ins}.i;iso%ﬂ% r‘l‘e'igfxgzﬁsergﬁzeﬂt This Cop Needs to press flit BILL E"'_ MATERIAL (681,78) ww_l
=%y 32 = POST & e = Inside of o 4'x4"x1/4" Tuke
T 73 7% ) ‘lﬁ-&' -k » aTy DESCRIPTION ASTM DESIGNATION
b4 L F— i 2 -3 " N
POST “1~4" 14 5 T2 11E ﬁ E'}a'l = L T 1 |THRIE BEAM TERMINAL CONNECTION <10 Ga) AASHTO M180
4+ [1-2 3/8° ¥ ﬁ o l 1 _[THRIE BEAM TRANSITION @ 7'-3 1/2° <10 Ga) AASHTO M180
11.. - ol 1Y € 1 |[CONNECTION PLATE M270, Gr. 36
2 ——6 3/8"— . . QI [ aft . 2 |12’ 6" THRIE BEAM <12Go) AASHTO MI180
f §| 78 e 8 |]/' ﬂ 3 4 |WeXa5 POST @ 8-0" (PUNCHING VARIES - POST 1~4) AS72 Gr. 50
| : 1 |DEFLECTOR PLATE (APPROACH OR TRAILING) A36
D || P . i —
A0 n 1 [8° X 4" X S/16" RAIL @ 9'-4* AS00 Gr. B
T et g T il DA [
5 ==
< | P & ! e RECEIVED 1_|4” X 4" X 1/4° END CAP A36
Punch . r r ’ r
ON: 1 [7" x 3" x 3/8" SPLICE TUBE @ 1’ 1l 3/4 AS00 Gr. B
W : [ ‘Jlfjnci 3; 3914 1 R 1 |3 x 3" x 5/16" SPLICE TUBE € 1’ il 3/4° AS00 Gr. B
L Il Sl N - 1h 8 |? 3/4" SCH. 40 PIPE @ 1/2" AS3
PER CHART I CONFORMANCE & = | 8 |9 5/8" X 1 3/4" HEX BOLTS A307
“ 11" BY: Jennifer Fitch DATE: 06/04/2014 3 —|F 1 8 |¢ 5/8" FLAT WASHER, HARDENED, TYPE A, PLAIN WIDE 4307
R 8 ' v i 7 | 374" X 6° CARRIAGE BOLT, & NUT A307
{_ (TYP.)|] __[ 1 |9 3/4" X 2' CARRIAGE BOLT, & NUT A307
3 | 5] - T %.]_ O 19 |# 5/8° X 1’-6" BUTTON HEAD POST BOLT, PLATE WASHER, F.W. & NUT _ |A307, A36, FB44 or 307, & A563
2 12 [ { gd — 32 | 5/8° X 1 1/4” BUTTON HEAD SPLICE BOLT, RECESSED NUT & F.W. A307
% 19 [3/16" SPEC. PLATE WASHER @ 1 3/4° X 3° A36
(TYP.) i 16 |# 3/4° X 6’ SLOTTED ROUND HEAD BOLT, F.W. LOCK W. & LOCK NUT A449, F436, ASME BIS.2L1, & AS63
> @E 10 |6 X 8 wOOD POST € 7'-0° SUPPLIED BY DTHERS
8'-0" W6 X254 | |_ 16 /lf" 9 |6 X 8 wOOD BLOCKOUTS e 1'-6* SUPPLIED BY OTHERS
FOR N 1 |6 X 8 WOOD BLOCKOUTS e 1'—2* SUPPLIED BY OTHERS
- GALV. L
/}L/_ (TYP.) \} HARDWARE APPLICATION
||| 1..j ary DESCRIPTION ASTM DESIGNATION APPLICATION
A 8 |# 5/8° X 1 3/4° HEX BOLTS A307 USED IN SPLICE TUBES
| CONNECTION PLATE DETAIL B | 8 | 5/8° FLAT WASHER, HARDENED, TYPE A, PLAIN WIDE A307 FOR SPLICE TUBES,
= : C 7 |® 3/4° X 6" CARRIAGE BOLT, & NUT A307 TERM, CONN, & CONN, PLATE TO RAIL
QI . D 1 _|# 3/4° X 2° CARRIAGE BOLT, & NUT A307 DEFLECTOR PLATE TO CONN. PLATE
3 2-3" 5 E | 19 [# 5/8° X 1'-6' BUTTON HEAD POST BOLT, PLATE WASHER, F.W. & NUT _ |A307, A36, F844 or A307, & AS63 |[THRIE BEAM, TO OFFSET BLUCK, TO 6x8° POST
- 1113 F | 32 |# 5/8° X 1 174" BUTTON HEAD SPLICE BOLT, RECESSED NUT & F.W, A307 FASTEN PANEL COMPONENTS TOGETHER, (THRIE, TERMINAL CONNECTOR, TRANSITION SECTION
..“ G | 19 [3/16° (SPECIAL) PLATE WASHER € 1 3/4° X 3" A36 USED IN PANEL VALLEY, W/ 18° BOLT
"_3" 7" o H | 16 |# 374" X 6" ROUND HEAD BOLT, FL. WASHER, LOCK W, & NUT A449, F436, ASME B18.211, & AS63|FASTEN 4X4 & 4X8 RAIL TO RAIL POST 1~4
1"x1* CLIPPED CORNER~_ 4
| & l
gzl ® I o L B EXPANSION SPLICE FOR: TS4x4x1/4”
= L & & o St PREVAILING ~TYPE AWIDE PLAIN WASHER EL ©.824 (REF) '
10" § TORQUE (13/16" x 2" x 5/32") 178" . 95/8° TAPPED HOLE (@x
, 13"l TS 11 TYPE LOCK ; sLot i 8 374"~ | ki TS3x3x5/16°
112 & NoT ] | @3 \ " b 1 172" 3/4" SCH. 40 PIPE SPACER _——e N .
l I s
Fan I —_— X D e | MRy A ‘"
¢ @ e —aF | | ¥
—|1 i —{ [F378" MIN. % 1-53-
' =i | By 8 o3
%6 7\ \_ \ A 449 (TYPE 1) ASTM A36 , 1'?8 AS00 Gr. B
3*x6" CLIPPED CORNER: 1" {QK} ﬂ%“ (2%) ROUND HEAD BOLT 1 \ l%. 1 —112
3%' s ';'EFv == m /8" NUT(e DUTER HOLES ONLY)
2~ - 003390055 TACK WELD
Tl
3 . = |
/ 2 ) l : '@'\—{ DEFPL-1,TXT - e
. . 1
EXPANSION SPLICE FOR: TS8x4x5/16* || Ms/et X 1 172" sLoT M_¢__|___“__@j
T 2 EA !
TS7x3x3/8" DEFLECTOR PLATE DETAIL DRAWINGS ARE FOR COMPONENTS,
APPROACH SHOWN, TRAILING-OPPOSITE BEND
@ 3/4°< 5 3/4° ASSEMBLE PER STANDARD S-360B
SHOP DRAWING REVIEW
== lé' L_ m REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AIIEMVE#EUS&IVZQ | SHEET 1 OF 4
@ “gﬁ LEEE% REGUEMENTS CONTAWED N THE consTrucrion conmatooes, ||| APPROVED BY: 2 RAIL BRIDGE RAIL TO GUARDRALL TRANSITION
LlREIECTED (EREVISE AND RESURMIT ] JURnisH a5 coRRECTED ROCHESTER, BRF 0162 (17) VT RTE 73 (MAJOR COLLECTOR), BRIDGE NO : 16, OVER CORPORATION BROOK
AS 00 REETION; COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEWW DO NOT RELIEVE CONTRACTOR TOWN OF HOGHESTEH COUNW OF WlNDSOR VT
FROM COMPLIANCE WITH REQUIREMENTS OF THE DRAWINGS AND SPECIFICATIONS] THIS CHECK IS ONLY FOR REVIEW : '
OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND GENERAL COMPLIANCE WITH THE R|NO. | DATE | DESCRIPTION BY| R |NO.| DATE DESCRIPTION BY
INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESFONSIBLE FOR: CONFIRMING AND E|l 1 6/2/14 |REVISED PER 5/30/14 MARK-UP [EP.| E
[ ________________ CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQUES OF V I V
5/81 NU" (E DUTER CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A =
HOLES ONLY) SAFE AND SATISFACTORY MANNER. |47 ’-} CERTIFED DRAWN E.P. 5/15/14
TACK WELD JobNumber:_97527 ELDERLEE, INC. &q\liD)) FABRID\TOR[ CHECKED DL 51514
MODIFICATION TO P/N 5143.40056 [ VHB 8. D Masse 0AKS CORNERS, NEW YORK 14578 APPROVED | :
TO CREATE P/N 5143.90056 —fr—— e — — o — R 6-714 E-Mail: dlong@elderice.com SCALE | SCHEMATIC
3 Date: Tel:315—789—6670 Faz:315-789-6615 DRAWING NO. F.AL ROCHESTER, TR16



jfitch
CheckForConformanceFields


I

g

[

|—10—21"(rYP)-
12'-6" P 6:}"(T\’F')
/374" x 2 1/2” SLOT 16x) %) | —~| 2
Vo) (@] (@]
| o ) O
= —gé— ----- —es——-——- —es—————— e s = — e — —e=—-—
o @] @]
(@] O
———=s—-——-——-x —=———————— =~ —r——r— — = ——————= f—Tr—r—r—x = — = — T =
I o O o
o (@] [@]
6-3"(TYP)
13-63"
eS/32" x {1 1/8" SLAT
(24x)

9!_4"

— 7113

7! 84"

I 3"
—5-93"

g
564"

1 3"
374~

3'-4

_1!!

/Q 13/16"

e ey —

01" THRU (4X)

@1 1/8"(+1/16 / -0") x 3 1/2" (2X)
BOTTOM ONLY

__‘"__'T‘_‘_‘_‘_'_l“'/,_-‘%@_-

! |_2u
—ADD PRESS FIT END CAP
THIS END DONLY

“\91/2" DRAIN HOLE
BOTTOM ONLY

wWw 1

& 4

RECEIVED

June 3, 2014
and Checked for

CONFORMANCE

BY: Jennifer Fitch DATE: 06/04/2014

ON:

SHOP DRAWING REVIEW

m REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AND APPROVED, BUT ONLY FOR
CONFORMANCE TO THE DESIGN CONCEPT OF THE WORK, AND SUBJECT TO FURTHER LIMITATIONS AND
REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS.

[J FURNISH AS CORRECTED

[J REJECTED [J REVISE AND RESUBMIT

CORRECTIONS OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR
FROM COMPLIANCE WITH REQUIREMENTS OF THE DRAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR REVIEW
OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND GENERAL COMPLIANCE WITH THE
INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPONSIBLE FOR: CONFIRMING AND
CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQUES OF
CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A
SAFE AND SATISFACTORY MANNER.

VHB

Job Number._ 27927

gy, D Masse

6-5-14

Date:

_211

|
" In
58

107"

61"
3]
&7}

1"

__7|_1 1 Zrl
——7'<8

9!_4"

1"
__5|_91u

1"'

5'-6
373"
3-d4y"——
- '_5Z"_
1-24"F

/—®1 3/16" THRU (8X)

TRAILING RAIL

em—

|
:

2"J :

\@1" THRU (3X)

in= |
75 _
l_

@1 1/8"(+1/16 /-0") x 3 1/2" (2X)

BOTTOM ONLY |

— - A

2u_|

—ADD PRESS FIT END CAP

on \ 1/2" DRAIN HOLE-

THIS END ONLY

ITEM #: 621.72

J,‘ 17||_

BOTTOM ONLY 8

Ww 1 & 4

| sHEET 2 oF 4

APPROVED BY:

2 RAIL BRIDGE RAIL T0 GUARDRAIL TRANSITION
ROCHESTER, BRF 0162 (17) VT RTE 73 (MAJOR COLLECTOR), BRIDGE NO : 16, OVER CORPORATION BROOK
TOWN OF ROGHESTER, COUNTY OF WINDSOR, VT
R[NO. | DATE |_ DESCRIPTION BY| R [NO.| DATE | DESCRIFTION |BY
E[ 1|62/t Inevlszn PER 5/30/14 MARK-UP |EF.| E
v
P TR ) DRAWN | EP. | 5154
ELDERLEE,INC. @15_ j CHECKED | DL | 515/4
OAKS CORNERS, NEW YORK 14578 g"gﬁ:‘” B
Tel: 31 5{;g;fégyos g:ﬁ;:‘?f;;;n_sm 5 DRAWING NO. F.AL ROCHESTER, TRIG



jfitch
CheckForConformanceFields


24" APPROX,

17 11/16"

12 29/32"

BG203
C

ROUNDED "W* BEAM
END SECTION

12_1/4°

2143.00085

t:.qg 10 FIT 1/32" LOOSE

29/32" x 1 1/8"
¢4 SLOTS REQUIREDY

BILL OF MATERIAL <621.72) Ww-2

DETAIL SHOWING PIE CUT LOCATIONS @ WW 2,

FOR 8'-6" CONVEX RAD, ON FACE OF RAIL,

1'.p3e.
12§

5 4 I —

e

=

‘?'_‘:‘IP'EQ'

-
|
|
|
|
_?. _-._¢.

i g —y

|

|

j
et
ot

¢

t

¢

aTy DESCRIPTION ASTM DESIGNATION
1_[THRIE BEAM TERMINAL CONNECTION (10 Ga) AASHTO_M180

1_[THRIE BEAM TRANSITION € 7'-3 1/2° <10 Ga) AASHTO _M180
1__[CONNECTION PLATE M270, Gr. 36

2 |12’ 6’ THRIE BEAM <12Go) W/ PARTIAL 85 RAD. AASRTO_M180

1_|ROUNDED ‘W* BEAM, END SECTION AASHTD M180

4_|W6X25 POST € 8'-0' (PUNCHING VARIES - POST 1~# AS72 Gr. 50

1 |DEFLECTOR PLATE (APPROACH DR TRAILING) A36

1_[8” X 4" X 5/16° RAIL @ 9'-4* AS00 Gr. B

1 4" X 4 X 1/4" RAIL @ 9'-4° AS00 Gr. B

1_[8” X 4" X 1/4” END CAP A36

14" X 4" X 1/4" END CAP A36

1 _|7” x 3" x 3/9’ SPLICE TUBE € I’ 1l 3/4’ AS00 Gr. B

I [3" x 3" x 5/16" SPLICE TUBE @ I' 11 3/4" AS00 Gr. B

8 |2 3/4" SCH. 40 PIPE @ 1/8" AS3

8 |¢ 5/8" X 1 3/4" HEX BOLTS A307

8 _|# 5/8" FLAT WASHER, HARDENED, TYPE A, PLAIN WIDE A307

7 |# 3/4" X 6" CARRIAGE BOLT, & NUT 4307

1_|# 374" X 2’ CARRIAGE BOLT, & NUT 4307

15 _|¢ 5/8° X I'-6° BUTTON HEAD POST BOLT, PLATE WASHER, F.W. & NUT _ |A307, A36, FB844 or 307, & AS63
36 [@ 5/8" X 1 174’ BUTTON HEAD SPLICE BOLT, RECESSED NUT & F.W. A307

19_[3/16° SPEC. PLATE WASHER € 1 3/4° X 3" A36

16 _|¢ 3/4" X 6° SLOTTED ROUND HEAD BOLT, F.W. LOCK W. & LOCK NUT __ |A449, F436, ASME BIB.2Ll, & AS63
10_|6 X 8 wOOD POST € 7/-0° SUPPLIED BY OTHERS

9 |6 X 8 wOOD BLOCKOUTS @ 1'-6° SU

FELIED BY OTHERS
%HOF’ DRAWING REVIEW

4 REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AND APPROVED, BUT ONLY FOR
CONFORMANCE TO THE DESIGN CONCEPT OF THE WORK, AND SUBJECT TO FURTHER LIMITATIONS AND
REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS.

[J REJECTED

[ REVISE AND RESUBMIT [J FURNISH AS CORRECTED

9!_4"

CORRECTIONS OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTQR
FROM COMPLIANCE WITH REQUIREMENTS OF THE DRAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR RE\LIjN
OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND GENERAL COMPLIANCE WITH-THE
INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPONSIBLE FOR: CONFIRMINqEID
CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQU)
CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORI

SAFE AND SATISFACTORY MANNER.

91_4"

VHB

Job Number: 57627

Reviewed By: D Masse

6514

Date:

' gn___
1 5 '94

/3w
°4

4

g

1 0-4-"

5"

9'-67

APPRDACH

RECEIVED

June 3, 2014
and Checked for

CONFORMANCE

ON:

_1 "'51"'
dn

21124

213/16" THRU (8X)—\

3|_41"

! 3"
3-7%

7-8

1"

7%~

103"

QSH
4

21"

BY: Jennifer Fitch DATE: 06/04/2014

’:

nJ. —

.2

N

7L |
|

2
/BQOTTOM ONLY

11/8"(+1/16 /-0") x 3 1/2" (2X)

@1" THRU (3X)J

2n_|

32"&
D

3

—-‘P'—'/é--—!!-- &

I

i
T

7§|l

@1" THRU (4X)—

11/8"(+1/16/-0") x 3 1/2" (2X)
BOTTOM ONLY

“16

—
==

s — - — - — - ——-—-

1

_117..L

W/8.9

@1/ " DRAIN HOLE

BOTTOM ONLY
CONVEX RAD.

———
i

2u_|

ADD PRESS FIT END CAP—

THIS

END ONLY

8

WWwW 2
wWWw 3

ITEM #:621.72

W/8.5

BOTTOM ONLY

17..L ——51/2' DRAIN HOLE/ o

|
2"_'

CONVEX RAD, ADD PRESS FIT END CAP—

THIS END ONLY

| SHEET 3 OF 4

APPROVED BY:

2 RAIL BRIDGE RAIL T0 GUARDRAIL TRANSITION

HOCHESTER, BRF 0162 (17) VT RTE 73 (MAJOR COLLECTOR), BRIDGE NO : 16, OVER CORPORATION BROOK

TOWN OF ROCHESTER, COUNTY OF WINDSOR, VT

Tel: 3157896670 Fax:315-789-6615

R|NO. DATE | DESCRIPTION BY| R [NO.| DATE DESCRIPTION BY]
E| 1 6/2/14 |REVISED PER 5/30/14 MARK-UP |EP.| E
v
I A DRAWN EP 5/15/14
T} HCERTIFlED L
2 ELDERLEE,INC. 11 caroR|| CHECKED | D.L. 5/15/14
OAKS CORNERS, NEW YORK 14678 APPROVED | . -
E—-Mail: dlong@elderlee.com SCALE | SCHEMATIC
DRAWING NO. FRL. ROCHESTER, TR16



jfitch
CheckForConformanceFields


ary RIPTION ASTM NATION
PESERIRTID ST BESIENATI ary DESCRIPTION ASTM DESIGNATION
1 [THRIE BEAM TERMINA
16 _BEAN TERMING). CIBINEL 1T <10 a2 pash g et 1 [THRIE BEAM TERMINAL CONNECTION <10 Go) AASHTO Mi80
1_[THRIE BEAM TRANSITION & 7/-3 1/2° (10 Go) AASHTO MIS0 , :
1_[THRIE BEAM TRANSITION @ 7'-3 1/2” {10 Gay AASHTO M180
1 [CONNECTION PLATE M270, Gr. 36 L L
2 iz’ 6° THRIE BEAM (12Ga) W/ PARTIAL 8'-10' RAD. AASHTO MIS0 AL :
= i3 2 |12’ 6 THRIE BEAM 12Go) AASHTO MIS0
1 _|ROUNDED “W* BEAM, END SECTION AASHTO M180 g
LT 4 |W6X25 POST @ 8'-0° (PUNCHING VARIES - POST 1~4) AS572 Gr. 50
4 |W6X25 POST @ 8'-0° (PUNCHING VARIES - POST 1-4) AS72 Gr. 50
1_|DEFLECTOR PLATE CAPPROACH OR TRAILING) 236
1 _|DEFLECTOR PLATE (APPROACH OR TRAILING) A36 2522 L 2o b
e S . a2 1 [8" X 4" X 5/16' RAIL & 9'-4 AS00 Gr. B
1 _|8” X 4" X 5/16' RAIL @ 9'-4 AS00 Gr. B L ; Ty
4 : Lo 1[4 X 4" X 1/4° RAIL @ 9-4 4500 Gr. B
1 |4 X 4" X 1/4’ RAIL & 9-4 4500 Gr. B it :
— . 1 [8° X 4° X 1/4° END CAP a36
1_[8" X 4" X 1/4° END CAP 436 255 z
et o TN e = 1 |4 X 4 X 1/4° END CAP A36
i< o i ' _ 1 |77 x 3" x 3/8° SPLICE TUBE @ U 11 3/4° W/ 4° BEND AS00 Gr. B
1 _[7° x 3 x 3/6" SPLICE TUBE € I 11 3/4 AS00 Gr. B ol 2o . : . -
e : . . 1 _|3" x 3" x 5/16" SPLICE TUBE @ 1" 11 3/4° W/ 4° BEND AS00 Gr. B
1 [3 x 3" x 5/16° SPLICE TUBE @ I 11 3/4 AS00 Gr. B - -
2 i 8 |9 3/4" SCH. 40 PIPE @ 1/2 AS3
8 |s 3/4° SCH. 40 PIPE € 1/2 AS3 . 2
8 |6 5/8° X | 3/4’ HEX BOLTS A307 8 10 5/8" X 13/4° HEX BOLTS p3e7
@ 5/8° FLAT WASHER, HARDENED, TYPE A, PLAIN WIDE
8 |6 5/8° FLAT WASHER, HARDENED, TYPE A, PLAIN WIDE 3307 8 19 5/8° FLAT (307
el AR 7 |8 374" X 6' CARRIAGE BOLT, & NUT A307
7 |6 374" X 6" CARRIAGE BOLT, & NUT 2307 e
1 | 3/4° X 2’ CARRIAGE BOLT, & NUT 4307 L P e x e CANRIAGE LTS MUY ndoy
T 5/aT X T=5 BITTON TEAL-FESY BT PR VS B EV CT Ao Pl om0 s I5_[¢ 5/6° X -6 BUTTON HEAD POST BOLT, PLATE WASHER, F.V. & NUT _|A307, A3, F844 or 307, & ASE3
. ; 32 |0 5/8” X 1 14" BUTTON HEAD SPLICE BOLT, RECESSED NUT & F.W. A307
36 |8 5/8° X 1 174" BUTTON HEAD SPLICE BOLT, RECESSED NUT & F.W. A307 . e O
e T P AR S T TS e 19 _[3/16" SPEC, PLATE WASHER € 1 3/4' X 3 A36
: @ 3/4 X 6 SLOTTED ROUND HEAD BOLT, F.W, LOCK W. & LOCK NUT _ |A449, F436, ASHE BI8ALL, & A
16 |8 3/4° X 6° SLOTTED ROUND HEAD BOLT, F.W. LOCK W. & LOCK NUT __ |A449, F436, ASNE BIB.2L1, & AS63 16 - e Jy FACE, QolE BloC Ll onned
i el 10 |6 X 8 wOOD POST € 70 SUPPLIED BY OTHERS
10 |6 X 8 woOD POST @ 70 SUPPLIED BY OTHERS = o
i e S |6 X 8° woOD BLOCKOUTS @ 1'-6 SUPPLIED BY OTHERS
2l W e Sl n St 1 |6 X 8’ wOOD BLOCKOUTS @ r-2 SUPPLIED BY OTHERS
1 |6 X 8 WOOD BLOCKOUTS @ 1'-2” SUPPLIED BY OTHERS

EXPANSION SPLICE FOR: TS4x4x1/4°

¢5/8" TAPPED HOLE <2x

@ 3/4"

fy — —— ]

Vermont Agency of Transportation

RECEIVED

June 3, 2014
and Checked for

CONFORMANCE

BY: Jennifer Fitch DATE: 06/04/2014

ON:

EXPANSION SPLICE FOR: TS8x4x3/16"

TS3x3x5/16"

@ 3/4"~]

P

AS00 Gr. B

TS7%x3%3/8"

SHOP DRAWING REVIEW

m REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AND APPROVED, BUT ONLY FOR
CONFORMANCE TO THE DESIGN CONCEPT OF THE WORK, AND SUBJECT TO FURTHER LIMITATIONS AND
REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS.

[J REJECTED [J REVISE AND RESUBMIT [J FURNISH AS CORRECTED

CORRECTIONS OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR
FROM COMPLIANCE WITH REQUIREMENTS OF THE DRAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR REVIEW
OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND GENERAL COMPLIANCE WITH THE
INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPONSIBLE FOR: CONFIRMING AND
CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQUES OF
CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A
SAFE AND SATISFACTORY MANNER.

ob Number: _ 27977
VHRB |2l

Date: 6-2-14

5/8 NUT(@ OUTER
HOLES ONLYD ITEM #:621.72 I SHEET 4 OF 4
TACK WELD .
APPROVED BY: 4 RAIL BRIDGE RAIL T0 GUARDRAIL TRANSITION
ROCHESTER, BRF 0162 (17) VT RTE 73 (MAJOR COLLECTORY), BRIDGE NO : 16, OVER CORPORATION BROOK
TOWN OF ROCHESTER, COUNTY OF WINDSCR, VT
R|NO. | DATE| DESCRIPTION BY| R [NO.| DATE DESCRIPTION | BY]
El 1 6/2/14 [REVISED PER 5/30/14 MARK-UP [EP.| E
W/ 4° BEND W/ 4° BEND . i
AR DRAWN | EpP. | 51514
FOR WW 4 FOR WW 4 E’LDERLEE,INC. E"ED}) FABRICATOR|| CHECKED | DL 5/15/14
J 0AKS CORNERS, NEW YORK 14618 APPROVED | . :
E—Mail: dlong®@elderlee.com SCALE | SCHEMATIC
Tel:316-789-6670 Fax:315-789-6615 DRAWING NO. FRL ROCHESTER, TR16



jfitch
CheckForConformanceFields


WELDING PROCEDURE SPECIFICATION
PQR ELDERLEE #3

Material Specification ASTM-A500-A53-GRADE B TO A36
Welding Process FCAW-G

Manual or Machine SEMAUTOMATIC

Position of Welding 1G

Filler Metal Specification Ab.29

Filler Metal Classification EB1T1-Ni1C-JH4

nnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnn

RECEIVED

ON: June 3, 2014
and Checked for

CONFORMANCE

BY: Jennifer Fitch DATE: 06/04/2014

Flux N/A
Shielding Gas CcO2 Dew Point -40DEG F  FLOW RATE 50 CFH
Single or Multiple Pass SINGLE
Single or Multiple Arc SINGLE
Welding Current DC
Polarity REVERSE ELECTRODE POSITIVE
Welding Progression STRINGER
Root Treatment PER D1.5
Preheat and Interpass Temperature PER. D1.5
Postheat Temperature NONE
Heat Input Min Max
' WELDING PROCEDURE
Pass Electrode | 'VodingCurment | poig) Joint detail
no. size Amperes Volts speed
1 1116 310 25 11
Variable LIMITS 341 27 12
TO TO TO
269 23 10

SHOP DRAWING REVIEW

m REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AND APPROVED, BUT ONLY FOR
CONFORMANCE TO THE DESIGN CONCEPT OF THE WORK, AND SUBJECT TO FURTHER LIMITATIONS AND
REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS.

[J REJECTED [J REVISE AND RESUBMIT [J FURNISH AS CORRECTED

lia”

CORRECTIONS OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR
FROM COMPLIANCE WITH REQUIREMENTS OF THE DRAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR REVIEW
OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND GENERAL COMPLIANCE WITH THE
INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPONSIBLE FOR: CONFIRMING AND
CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQUES OF
CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A
SAFE AND SATISFACTORY MANNER.

Job Number: _ 57527

VH B Reviewed By: [ Masse

Date: 6-2-14

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No. 3012 Contractor Elderlee, Inc.

Revision No. Authorized By RANDY SCOTT

Date 3/20/2014



jfitch
CheckForConformanceFields


